



Description	Size	Pressure Rating	Body Material	Bore	QTY	Weight	Total Weight	
Floating Ball Valve	1/2"	#150	Carbon Steel A216 WCB	Full Bore	43	2	86	
Floating Ball Valve	3/4"	#150	Carbon Steel A216 WCB	Full Bore	14	3	42	
Floating Ball Valve	1 1/2"	#150	Carbon Steel A216 WCB	Full Bore	35	7	245	
Floating Ball Valve	2"	#150	Carbon Steel A216 WCB	Full Bore	2	12	24	
Floating Ball Valve	3"	#150	Carbon Steel A216 WCB	Full Bore	1	18	18	
Floating Ball Valve	1/2"	#300	Carbon Steel A216 WCB	Full Bore	3	3	9	
Floating Ball Valve	1 1/2"	#300	Carbon Steel A216 WCB	Full Bore	11	11	121	

Election Dell	<u> </u>		Chaimlana]	
Floating Ball Valve	1/2"	#150	Stainless Steel 316	Full Bore	1	2	2	
Floating Ball			Stainless					
Valve	1"	#150	Steel 316	Full Bore	3	3	9	
Floating Ball		#150	Stainless		53	7	371	
Valve	1 1/2"		Steel 316	Full Bore				
Floating Ball		#150	Stainless		7	33		
Valve	4"		Steel 316	Full Bore			231	
Floating Ball			Stainless					
Valve	6"	#150	Steel 316	Full Bore	1	85	85	
Floating Ball			Stainless					
Valve	8"	#150	Steel 316	Full Bore	2	152	304	
Floating Ball			Stainless					
Valve	1/2"	#150	Steel 316	Reduced Bore	4	1	4	
Floating Ball			Stainless	Reduced Bore	27	2		
Valve	3/4"	#150					54	
Floating Ball			Steel 316 Stainless		2	9		
-	1 1/2"	#150	Steel 316	Reduced Bore			18	
Valve				Reduced Bore	3	9		
Floating Ball Valve	2"	#150	Stainless				27	
			Steel 316					
Floating Ball Valve	2 1/2"	#150	Stainless	Reduced Bore	1	12	12	
		#150	Steel 316	Reduced Bore	1	18		
Floating Ball	3"		Stainless				18	
Valve			Steel 316					
Floating Ball	6"	#150	Stainless	Reduced Bore	1	52	52	
Valve			Steel 316			ł	<u> </u>	
Floating Ball	1/2"	#300	Stainless	Full Bore	19	3	57	
Valve			Steel 316 Stainless			 		
Floating Ball	3/4"	#300		Full Bore	10	4	40	
Valve Floating Ball			Steel 316 Stainless					
Valve	1"	#300		Full Bore	15	8	120	
	┥──┤	#300	Steel 316		5	11	55	
Floating Ball	1 1/2"		Stainless	Full Bore				
Valve		#300	Steel 316	Full Bore	4	13		
Floating Ball Valve	2"		Stainless				52	
			Steel 316					
Floating Ball	3"	#300	Stainless	Full Bore	1	31	31	
Valve			Steel 316					
Floating Ball Valve	6" #300		Stainless	Full Bore	3	106	318	
			Steel 316					
Floating Ball	8	#300	Stainless	Full Bore	1	186	186	
Valve	live		Steel 316					